
237 

𝑊 =  ∆𝐸𝐾 

𝑊 = 
1

2
𝑚∆𝑣 2 

𝑊 = 
1

2
94 x 11.12 1 

𝑊 = 5.79 x 103 J 1 

238 

∆𝑣 = √
2∆𝐸𝐾

𝑚
= √

2𝑊

𝑚
= √

2𝑚𝑎𝑠

𝑚

∆𝑣 = √
2(0.145 x 265 x 3.50)

0.145
1 

∆𝑣 = √2(265 x 3.50)

∆𝑣 = 43.1 m s−1 1 
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𝑊 =  ∆𝐸𝐾 

𝑊 = 
1

2
𝑚∆𝑣 2 

𝑊 = 
1

2
(65 + 6.8) x 152 1 

𝑊 = 8.1 x 103 J 1 

240 

𝑠 = 
𝑊

𝐹
=

 𝑚∆𝑣 2

2𝐹

𝑠 = 
1800 x 28. 02

2 x 67 x 103
1 

𝑠 = 10.5 m 1 
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𝐹 = 
𝑊

𝑠
=

 𝑚∆𝑣 2

2𝑠

𝐹 = 
72 x 112

2 x 190
1 

𝐹 = 23 N 1 

242 

𝐹 = 
𝑊

𝑠
=

 𝑚g∆ℎ

𝑠

𝐹 = 
(4.8 x 9.8 x 2.2)

3.5 x 10−2
1 

𝐹 = 3.0 x 103 1 

𝑎 = 
𝐹

𝑚

𝑎 = 
3.0 x 103

4.8
1 

𝑎 =  616 m s−2 1 

243 

𝐸𝐾 = 
1

2
𝑚𝑣 2 

𝐸𝐾 = 
1

2
(6.8 x 1015) x (12 x 103)2 1 

𝐸𝐾 = 4.9 x 1023 J 1 

244 

𝑣 = √
2𝐸𝐾

𝑚

𝑣 =  √
2 x 2.2 x 109

3.0 x 103
1 

𝑣 = 1.2 x 103 m s−1 1 




